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Cycle 1 Review

1. Which of the following composite shapes has 900° as the sum of its interior angles?
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2. Complete the following robot table and determine the rule it represents.
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3. The City of Mathville wants to build a rectangular splashpad in their only park. The cement will cost
$9.50/ft2. Mathville has $4600 to spend on cement. The city wants to use the least amount of
fencing to enclose the splashpad, but spend all of their cement budget.

What are the dimensions of the ideal splashpad? ):).y
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4. Shakespeare’s Globe Theatre’s inner structure was originally built with a base in the shape of a 20-
sided regular polygon. Determine the measure of one interior angle of the inner structure of the
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5. Angela created the pattern below. Sam has 216 tiles, what is the highest position number he can
build? SHOW YOUR WORK!
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6. Solve each of the following equations for the given variable.

(a) 4x =24 ‘1~6 ;2“" (b) 35=7m
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7. Complete the missing representations.

Diagram (Pattern — first 3 positions) Equation
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How do you know?
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8. Examine the patterns shown below.
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9. Determine the length of the missing side, showing all steps: 1
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10.

Building an Ice Rink

Jake builds an ice nnk as shown below

I —25m

Determune the perimeter of the rink. fb , ‘1
> .

Show your work.

25+25 +31.Y
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11.Jason owns a yard maintenance company. In the spring, he will come to your house and plant
flowers. He charges a flat rate of $25 and then $2/flower.

(a) Which equation(s) represent this scenario? (b) What will the graph of the relationship
between cost and the number of flowers

ike?
m planted look like?
i) C=2+25f /}

i) € =25f+2 .
Gy =27+ "

27
(c) If Jason planted 12 flowers what would the cost be? 15
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(d) If Jason charged a customer $62, how many flowers did he plant?
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